
 

ա) + 18
1

2
, բ) + 4

5

9
, գ) −

1

3
, դ)0, ե) +

3

11
, զ) − 14

2

5
 

 

 

ա) Ոչ 

 1)
596

96
=

37

6
գ/սմ3   

2)
840

105
=

8

1
գ/սմ3    

3)
37

6
<

8

1
 

բ) Այո  

 1) 700
4

5
= 700 ∙ 5 + 4 =

3504

5
 գ   

2) 
3504

5
∶

96

1
=  

3504

5
∙

1

96
=

73

5
∙

1

2
=

73

10
գ/սմ3 

3)766
1

2
=

1533

2
 

4)
1533

2
∶

105

1
=

1533

2
∙

1

105
=

511

2
∙

1

35
=

511

70
գ/սմ3 

5) 
73

10
=

511

70
 

 

1) 6 ∙ 2 + 1 =
13

2
 

2) 
15

1
∙

13

2
=

195

2
 

3) 2 ∙ 2 + 1 =
5

2
 



4) 
195

2
∶

5

2
=

195

2
∙

2

5
=  39 


